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e The figures in the margin indicate full marks
andi ‘e requir 3 ] .
ates are required to 8ive their answers in their own words
as far as practicable.
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1. Answer any five of the following questions in one or two sentences: 2x5=10

90 A 46 A NG @ @A A A Tew wie 3
(a) Write down the full form of IRDA.
IRDA-93 21 ST @Te |

(b) What is meant by insurable interest?

Sicaioy Y @I F @R ?

(c) What do you mean by indemnity?

Indemnity JI&CO I Q@2

(d) What is subrogation?

Subrogation J?

(e) Explain the term reinsurance.

siR I oo YR WS |

(f) Write down names of any two products of life insurance.

S (@ I g AT A Seer

! i %
(g) What is marne insurance:

- 2

(Amendment) Act’ enacted?

(h) When was ‘The Insurance
ot TR SR A AP A 22

‘The Insurance (Amendment) A
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2. Answer any two short questions from the following: IX2=10

A F (@) 7o @G AR Ted e ¢
(a) Explain the major functions played by insurance.
I e adi SRR g WS |
(b) Describe the main features of health insurance.
YA 2l Rl T @ |
(c) Distinguish between insurance and assurance. Give different classifications of insurance.

I ¢ INFE-9 o N4y el AN [y efdRkes st

(d) Discuss the salient features of treaty reinsurance.

peFe Aama SrefiRe (ARl SEts S0 |

3. Answer any two long questions from the following: 10x2=20

T I0e M (IF @ @@ 7HI Ted WS 3
(a) Examine the impact of privatization on the Indian insurance market.
TROR T IGE (FRIAFAE ok Ko F&i |
(b) Describe the principles of insurance.
I Sfoelerm 3 ws |

(c) Point out the significance of claims settlement in insurance. Give a brief account of trends

in insurance claims in India. 5+5=10
IR oo WS Fifen we S Tl | SRS I (Fg WK sfoegfe et S
M

(d) Explain the main features of IRDA Act, 1999. What are their implications in insurance
market? 6+4=10
‘IRDA Act, 1999’47 #4i7 (ARl =il el | SR el @2 @Rigete fRed
&Fg 7
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